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. Amnesty Intemational~93 A9 w2 e WAE?
Amnesty International #1 Jemem F s@fead o7

(vi) W
1) Who first observed the presence of Nucleus in a living cell?
@ Tenfae wdsew i FRGuem BefEfT ol e
. ’ "
TR Wieeh ok S suE 5 e g wm st v fan?

(2) _,u‘( In which year Jallian
; walabag Massacre took place? The protest i
in protest of which Act? ' . t ""'J"“"“f; b; ;
4x5=20

T e A T 2 we Fne gl ¢ e =i @fﬁmﬂ*w ef =
FRLTE LTEREAT . .

' AT TS g e wea fag? FR fmgen s
srem s fau? |

_‘@H Wit is the 5.1 unit of dis 1? Specd s an example of which quantity
&3 2 vFiee 74 i1y wefE (speed) B 44T arfim TRt

famm= S, ﬂﬁ!npmmgﬂﬂﬁﬁﬁrzmﬂlﬂ?

2-,-( Dholavi '&l = which has been included recently inthe world heritage list of UNESCO. is
fo, i@ﬁ wtate? Where is the hemdguaniers of UNESCO located?

UNESCO-2 World Heritage list=2 571 g (ISl (T A =afze t UNESCO-¢ %4

<l z=frr?
NESCO # World Heritage list-%1 BT mﬁanﬁ'm'ymwﬁ?_mﬁg

71 AT Tl S

.,L'( fFamous Lawn Tennis player Novae Djokovic belongs to which country? How many fournaments

in Lawn Tenuis are reparded as Grand Slam?
waire ol (A AT FE wreifes (o o i v &8 Gl =refi oferufiens e

= A7 wiefes #41
mﬂqmmmaﬁmgﬂmmﬂmm?mmmmﬁmﬂé*m

=g VAT A

(¥ Scanned with Oken Scanner



3) RASIFWEV. p-12022
(

ce Oxygen” What is the name. "
fixi=18

farn

(i) Tn laboratory which componen i ey a5 catalyst to Prody

solidified Carbon digxige 235" Write down the chemical formula af Meth ‘
M7 0O, 1 4= 78 ? R apm

HNe.

TS HEIE T e AT T
et fera "

L) Kalahar desen i located in which continent? Loess is an example of which kind pf land form?
In which Kind of pighs Presence of fisils are ohserved? S
FEE wagts TEET walyr p e (Loess) G 446 ‘ﬁﬁ’-“"?'ﬂ"“‘” o R
fremy S Bofurs R T rp— s
o TR R ez At 2 S (Loess) T4 T‘W@)mm
17 3 U 2 ey e

L Wha wrote *Sriks shnakirtan During medieval Fcn't’mf- the most renowned emperor of
u‘.‘“gﬂl ! “Fhli rﬂunﬁlkﬂ.l 'fjj.'l_'q.'nJHa"' [_I}n-_.ﬂ:.*? r Q
"EFEER (7 7w e AR OO Qﬁﬁ ¢ [ frammera AMIETa «e F
Eae-C k) . (
IR T N W vyt serd) waag wurz 7 fuu? e LUECUED
T e gy 4

Ghoprr—B [Aumnimc & Reasonee]

ArmivETIC
Sx5=25

)bl/'Une man. ong@waman and a boy doing a work together got a wages of T 4,935, The man, the woman
and the oy worked for 6, 5 and 4 days respectively, If every day they have worked in the ratio

of -é-,%-:? how much wage cach of them would get?

T v, GEEe TR € ST AN SIN0F T8 23 4,935 Ay wefE oo o 6 F,

— T S R = - E 1._' I
§ fst @ @i 4 fool wte agafes | 2372 TR ST Bee 73 T @ vel 3

'QEEJ‘F‘:T,IJ,'!«'!T"-'I'ﬁFlTHﬁmﬁﬁﬂzﬁm—*%jﬁrﬂ;ﬁlﬁmmfﬂlmw,ﬁfﬂ =

e 6, 5 3 4 o e e e PR TR 10 ) e s v g s, s
= ?

Wﬁhﬁmwa 152w

1£2.8
48a

sitid

F

(¥ Scanned with Oken Scanner



RESI{FWE)/P-1720122

(%)
(10 = S T el Sl e o
(h ok m 2 7
S LR 1T 1 )
15 In5
;v f“l{f}
S [ - B TS
“\"’ s
I
1
-._-?_ —{'I

A 5024050, w6, 2

(1) ALB.C. 1), L, IF 428 G 3l e st mopsten, ) e garaa o, sz rdly wnqry el - T0a141, fefe. ﬁ:'ﬂ
g Ry
FHAR, (oifE, WU ¢ Hmwa (T el AT R MIEE) | ITE ‘ﬁr’ s i it
; FEH4 2L LT qu“a f-p-n. Formere i wi] -  rieres, Tlant PRTSEY, L0, MR £40
- s (Ee | - L} 15‘!__‘:-_|"j

(€) TEivn Eﬁﬁ'ﬂTﬁM Ragidl

() =Evie [ ¥ e ) m@mm

(o) Triiwa g uifae fer wmztaiea A = |
(f) &riee Fﬂ%‘m SeapEE wlea |

(g) =ritefm itz Ferem AR B

thy D
(dy Sy & wma
24 [anemam Lo d (4w wuam vy

(n) 2= ey %
() SRIAM 4| Y4 @yeE o () Wl e waa

(iii) s a0y o s Ay
fu) B ~H E
(c) B =%a E-£3 27 %L o | () el e wwe amy

(¥ Scanned with Oken Scanner



(7) Rusirwy:

REASONTNG [nFNGALL VERSION]
(9) TT5a wHiuls ST WA AT ove qenfEm Tan fe l
A B.C.D.Eg®t F@afb qa@m sifars fosran fore 9l 02 304 =0E
(a) B, D-99 £33 «i2 AH Uiz
(b) C, A7 Qe /7= A iz [y g gaon < 2 &
(c) A, B-93 T dfera am =g

(i) E & ¥ A mea y

(a) 1-ca P difura @
() A @4t Bed T | O

() D-g el fadh gmlice ()

() C-aq D= emieed zaloe |

L 2
(i) isa ceml whey p AQ
(a) A, E-a¢ dferz Gl gmloe wse)
Ab) B, C-a7 Sfilere BEw gmine wme \/
(€) C, Faa i B zmlre rrsw 6
(d) D, E-c4 swfim e Tmiiee
(iii) Srpe = =y

(@) C, E-g4 gawy e
(h) ¥, D-ag LT B

(€) D, B-a7 qaus

—M’J\.C"‘ﬂ‘ﬂ ‘

2 e |

2% e 24 fen o 4 oo

) ﬁmmmiﬁmw@m
(a) BE

1 DE
(c) AB
(d) CD

CHER A Wi g

(¥ Scanned with Oken Scanner



RBSI(FWE)/P-172022 (4)

) . . I_— I I .
Df u]t rII-Ul mﬂ[EIIﬁ].’i TIEEdCd 1[! ITl:!kE' IL ] Ilt Eu.il Ol raw ||lﬂ|:EI]-J.I'p .'!.I"ld Iﬂl]l".“ “’ﬂgft il.'rl:l'c.‘lﬁl'.‘ll i [] 114
b - n

ratio of 5 : 12 and 3 - § respectively. Earlier the production cost was ¥ 810, What will be the selling

price of the anicle to get a profit of 15%7

=% grara Tesnl a7 (57 € SHRE ) T8 & (% ATHITE S A qEE 3 04 RIS AW
2l (of= | 42 272 ofrd4 Testrrm 7, [ 810 O

5 12 Hgenre I (e m::a;ﬁn;ﬁz.—-yﬁfs

exw) €% 2l we Bram fal ars 255 o= 4T Ve N
wF TR Fern a (T v it A wd) STE T T G ‘le.}"ruﬂﬂ"flﬂlm
&1 wia? e | =19

wﬂtmﬂﬂﬁ:lzm3:5ﬁmmmm|mmmﬁﬂ
et A e Fafs e W, 25% B TE 05 wiED? \)
)

L’J’/"* can do a piece of work in 9 days and B can do the samaivaghyin |8 days. They started the work
how many days the work hal heen

together but 3 days prior (o completion of work, 5§ eft. 1
completed? ‘
o mrs A 0 fars 84t B 18 e e mr{m"\qa’u w1g TE oA,

[

arel mm 2 3 &

=mest A 5ret oo | €% wreeld e clen s AN
)

A v i o T T e W ul= Gt = 18 e 7T | AR A R O Y T

wam T 3 A A 21 s <yt P s T TR i 6 = 2

! interest per annum for 2 years and 4 months is

4% The amount of interest caniedap ¥ principal at 45"
% 1 ore than the ambuitofinterest curned on the same principal amount at 5% interest per annum

tha ¥ hat was the 11rim:ip:al armyount”?

for | year and Y gon

i =% | 954 D WA OF HH L &2 qHHE ZMfe 4%’5 e 2 TEg d uTH e

e (OO @ T T T AT gy
| =1 0 AT A A FAE M, T A H alo =@

%, e GE Wi o 5% T
A Wmmmmﬁuﬂréﬁgﬁ%mmmﬁ?
-ter. In first glass milk and water is in a ratio of

ﬁ ¥ three equal glasses there is a mixfure of milk and w
3 - . in the second glass the ratio i 5 - 3 and in the third glass the ratio is 9 : 7. 1f the mintures of three

glasses are poured into a bowl. what shall be the ratio of milk and water in the bowl?

FraT w21 we-fufire wn TR | 29 AT 3 aqu i
g 9 - 71 fe=ll 21E &'ﬂ—ﬁ}&r{eaﬁmmmmﬂﬂ,aima!ﬁmma-ﬁzfdr

hﬂammmmgutwﬁquwmmﬁm?nmﬁﬁmh |z‘rﬂ11=qmm
5:3 =M ﬂmmﬁsa:?mﬁaﬁﬁqmmwmﬂmmﬂiﬂmw

T Al A i §e’ >

. @ BT HaHE 32 1 Rt oid 5

o

(¥ Scanned with Oken Scanner



7
RESI(FWE)/P-111/2022

2022

PAPER I !!-I*lNﬂAI.WNF.I'ALI!IIIHI?I-"U'RI'}IU

?_"FH"' .-'l.’.’ahrf'"“ ! Mor Furll ’r.rf.ﬂ"l--‘ — jﬂ
Use the wlplbets X, V. 7 in Place of name, wihilresy e, f necessury,

(For candidates who had vpted for Hengali )

' NI 9o

BT G b D
TR 1S T, cue sh— A e AT emaga THHE— sy Gt ﬂ’gmméﬂ &‘___ T
”‘ﬁ“ﬁ*ﬂﬂﬂﬂ%ﬁmﬁ?ﬁﬁﬂmﬂmﬁaﬁamm 77 SIS aff =Ry
0% ol vz wpps 2 92 Y wPiireE qrepm I8 & wiEa T e
TR~ 7R s SR AT — s ey A LANTT o & ey rerfEa

T AU
(For candidues who had nptc?.fili(}qvaﬁ.} /

t O - '
ﬂﬁmsrﬁrzwﬁmmﬁhaﬁuﬁﬂﬁmmmn !

Please Turn Over

3537

(¥ Scanned with Oken Scanner



LIS

(For candidates who had opted for Urdu )

- ; .y
_U:-"’_-.,;;.LLpn,:;;.,r*’_,_:'-._,“‘i;mlznn el Jevwetd L ks

0 ;_,"l:.}:_._l?!,rdi.r
=ledir
= Flrs L,.L.JI' bl (6 !'J:)L-’.;'b..f F;...h-.f ~1_,L*.«:._;!J;,ul :{'_,r-._:n ?_’," 2l el
e "-Jlr sl -;-Fui--—wfu :x’--*'n il Ji} N vur.,f ...r...;.ﬁ'.rd;h i
S G o, baaln -I.I::.'.. N -.......-I’..:.,r.-'_-"f_;_,:.JLma.- —L.«ﬁ._ﬂ_r.u’_ p P
e STy Jﬂ..g-u@_h:ﬁ,,rﬁ-"
S
&
(For candidates who had opted for ﬂeng paii)
L. A T FENAE S T % 2x10=20
(i Txuppose it is better than going 1o the police @Migou.

() Toke care of vour studies, or you will fall
(i) Give yoursell a quarter of an hour g pgently,”
(iv) What o beausiful sight! .

{v) They found for giant I}'mg u the tree.

(v} Please give me o plass o
{vit) How could this man hi:r"
(viit) How selﬁhl
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(x) Heliv l@mhia mother.
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PAPER II-ENGLISH
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1. Swdy the information below and write g pew spaper upon (within 100 words)on a severe earthquake
inTokyo 10
Sth May, Saturday, Tokyo, 10-28 A M —Strong carthquake in Tokyo and its neigh —55
on Richter scale—epicentre. southern part of Tharaki prefecture—intensity of cu@: 3 at Tokyo

S ot Gunma and Tochigi prefecture—Bullet train services suspended.
O,

" <
"€ 2 précis of the given passage and add a suitable title to#1 A 10

hjm““' “:h': ashington, President of the United States of ﬁw friend wh, had fought with
n
War againgt British and was almost his daily ¢ gy Won. . luc, _uve office, mthcgih of

Frcs
ident, +hancing to full vacant. many thou

office,

2. Translate into En_ st \\
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(i) i @ e Rmfeems cron pRe om o
() afs e gere off o)

3
2290 Please Turn Over
3537

(¥ Scanned with Oken Scanner



(3) RBSI(FWE)/P-11/2022

3. Make sentences with the following words to differentiate them in meaning from each other: 2x5=10

) Accept b)) All together ic) Descent ) Loose &) Quite
Except Altogether Dissent Lose Quiet

4. Write the synonyms of the following words: I
(a) Carcass O

(b) Confess ()

(¢) Eternal

(@) Rare @ &
@ Resilient . \A
5, Substitute the following phrases by a single word that best 'ﬂl%”s meaning: 1»5=5

{a) One who knows or sees evervthing

(b) One who does not believe in God
{c) Incapable of being seen through @

(d) Destitute of knowledge
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